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Note: (i)  This question paper consists of 47 questions ingall'
(i)  All questions are compulsory. Internal ch iven wherever required.

0
(iii) Marks are given against each question. &
(iv) Attempt these questions as per theminstruétions given for each of the
questions.
(v)  This question paper has two segiiifis gection Section B.

(vi) Section A has 36 questions fr 6.
(vii) Section B has 11 question

(viii) Section B has two optifhs. i -k is of Financial
Statements. Option : i &m ers in Financial
qu

Accounting. Candi ions from one option

g + et 3 et o AT | SR ) e e et 3 3

Note / fgwr:

Kl) Answers of all questions are to be giyen in ?he Answer-Book given to you. \
Toft St 3 I AT & TS ST H & fer |

(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.
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SECTION A
@Us A

Transfer Vouchers are prepared to record : il

(A)  Cash transactions (B) Non-cash transactions

(C)  Both (A) and (B) (D) None of the above
T 8 A & ol IR fpu s @ -
) e e (B) TR-hg,

©) (&) 3tk (B) 2 iy %
o

What will be the effect of the f(ﬂ'}owmg actfons on the accounting
L

equation ? r\ 1
Goods sold for cash to Ram (costit fo
(A)  Assets (+ T 15,000); Liabi 1t 000)
(B)  Assets (- % 15,000); 4
" (C)  Assets (+%20,00 00) (+0)
(D) Assets (+ 0) Liab : : 15 ,000)
ma?rrna T20,000%)
(A) 000); ISiT (+ % 5,000)
(B) 2 (+ T 20 ,000); TSft (+ % 5,000)
I& 720,000); USft (+ 0)
— 15,000); Ysit (+ %15,000)
‘Input unit’ is a major component of computer. Which of the following is
not used as an input device in Input Unit ? 1
(A) Keyboard (B) Printer
(C) Mouse (D) Scanner

T I WW@WWE{Wﬁ%WWﬂWEﬁEﬁ
m%am%mﬁ?@? ERIEIIEM

4) FarE ‘r:’ B) firex
(C) TeH L D &
| T

e
-320-A 3 B [Contd...
68/MAY/3-320-A] | E% [ Con



Purchase Book has been overcast by % 2,000. This error will be rectified
by : ' 1

() Crediting Suspense Alc by 2,000 and debiting Purchase Alc by
¥2,000.

(B)  Debiting Suspense Alc by 2,000 and crediting Purchase A/c by
¥ 2,000,

(C) By only crediting suspense A/c by % 2,000. é
(D) By only debiting purchase A/c by % 2,000.
1 T T 2,000 H G T ¥ | 30 aA9yf 35 e 5 fore o

& 2,000 for@ S |

(A) m@ﬁ%wwﬁfzoooaﬁxm@ﬁ%
(B) S @I % T 98T H £ 2,000 31 5y #% 92,000 fore Smd |

(C) W?ﬁﬁ@ﬁr%wwﬁfzooo
(D) mm@ﬁ%mwﬁm

5. Which of the following is a
Expenditure Account’ of

(A) Legacy
(C) Llfe Memb ament Fund

g fefafad & § S A9

IRCCEIRUR
(D) &iHe he

(A)
(C)

al balancé®of hows Sundry Debtors of £1,00,000. A
ision for doubt ts is to be created at 5% on debtors and
ov1smn for dlscount 5%. The amount of provision for discount on

Debtors will be : | 1
(A) ¥5,000 (B) £2,375
(C) 2,500 (D) ¥4,000

Ueh B T qefue Teardn & ; fafaer S9er £ 1,00,000; €@ st % o 29em W 5%
hi T H IR fohaT ST 3 2 o Fof 2:5% T 0 & TEEM o3 1T | 76 W 32
(A)  %5,000 (B) 2,375
(C) %2500 (D) %4,000

' EE
Y/3-320-A 4 | B [ contd...
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7. Which of the following is an item of ‘expenditure’ while preparing Income

and Expenditure Account of a Not-for-Profit Organisation ? 1
(A)  Grant-in-Aid (B) Honorarium

(C)  Purchase of Motor car (D) Investments

Rl e T =57 sTrrer @ A F g Pefate § § SR ue
= BRft 9

(A) H&HEdr EREE] (‘8@_3:{_@')

(C) uﬂawﬁ@ﬁ@
‘N

8. A firm is dissolved cqhﬁlpulsoﬁly when :
(A) All the partn% give consent.

(B) A partner becomes insolvent or o vmi |
(C) When a partner’s conduct is i advergel ect the business of
: the firm. 6 q

(D) The business become

=1 v
@ﬁm} sharing profits and losses in the
1

t into partnership for 1 share in profits .

Qic she acquires qually ratios from Diva and Rahim. The
crificing ratio of Diva and Rahim will be : 1
(A) 1:2 B) 1:4
(@)HHsR]ris] (D)“13:'5 ,
aﬁmaﬂrlﬁﬁn@wﬁﬁg@m%ﬁm : 1% ST H & BTt e e § 1
S 1 i - s fee @rdent 9 24, S e e o i &
ST H ST <At € | S = T <A T STl T
A) 1:2 E (B) .1:4
(€)=l By 13:5
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10.  Which of the following item is no# shown on the debit side of Partner’

Current Account ? ‘1
(A)  Interest on Capital |

(B) Interest on Drawings

(C) Drawings

(D)  Profits and Loss Appropriation (for share of loss)
ﬁnﬁff@aﬁﬁﬁqﬁq&’mﬂﬁ%a@@ﬁ%mwﬁ
CVIR IR '

(B)  3TEU0 W & ‘\

(C) M= :

(D) e sty e (e v u
11.  The goodwill of a partnership fi 3?baf’fe ;
(A)  Location ark
(C)  Efficient Manage i

cafilon of partners
T B oY ety
(A) fefoa
(C) e
When a
1S

|
(B, <ri i e &

ol %the ﬁw%mount Wi’ﬁh share allotment, it
| 1
it 6 Account when first call money becomes
ue. ;
Credited to “Advance Account when first call money becomes
“due.

Credited to Call-in-Advance Account when first call money is
received.

(D)  Credited to Calls-in-Advance Account when allotment amount is
received.

ST Ueh STE T2 AT TR T IA 377 o6 ST o a1 & 0 3T e, a1 9 -
(A) o AT TRT < T ST &, o S AH e @ 5 T 3 o s |
(B) oI FTSHT TRT < B ST T 39 S FTe1 @1 ¥ ST a6 e s |
(C) T ST TR STH &1 7T O ST T @ A ST e S |

(D) ATeie 2T TRT W & A R W T[T @ J ST foham ST & |

68/MAY/3-320-A] L e | % [ Contd...

o T =, . 1. - : J

12.




13.  On an equity share of ¥ 20, the company called up ¥ 16 and had received
T 14. On forfeiture of this share, Equity Share Capital Account will be

debited by : I
(&) %20 (B) %14
©) =16 D) %2

o) .
720 %Hmmmmﬁmmﬁau@:f 16 & 3t 9TH TRT T 1448 | 39 373 6t

TSt O, T SH91 Sl et o A1 e # for ST o

V)
(A) %20 P (B) T14

(C) %16 ¥ (D)
14. On forfeiture of 100 shares of ¥ 50 each, were credited to Share

Forfeited Account. These shares were gat share fully paid
up. The amount credited to ‘Capit 111 1

(A) 2,500
(B) No amount
(C) ¥5,000
(D)

. % ST H % 2,500 T T fan ‘
T | 3 : ' T | St He @ o S A ‘

0 %5,000 q _

(D) 3,000
15. Fill in the blanks : i 1x2=2

The accounting equation expresses t}ﬁi equality of on the one

side and on the other side. l\

foch et 1 i i g;

AT GHIHT T i Sh Ll 8, [9EH U 06 3 gl T

U9 i SRR
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16.  Give one word answer of the following : 1x2=2

(i) Sales of goods to Ram for cash is debited to.

(i)  Accounting equation serves as a basis for preparing.
et 1 o v s dif

() T T ¥ fore g forshl ot A R s 2

(i) i FHeRT S % R ST 3 &9 3 e T | é

17.  Complete the following sentence : \o I1x2=2
Control unit and L SolWthe act all the components

of the computer.

ot e it g Hifse

W%Mm%mﬁﬁw HATE |

18. Give one word answer of 1x2=2
(1)  The software th mg opmg user-specific
software. \
(11) One-s1 orS ar edt gh hich account ?
(1) ﬁ%ﬁnsq 3R ﬁ?ﬁﬂmﬁmﬁiﬁ
freE g R smare 2
19. Give one word answer of the following : 1x2=2

(1) At the time of dissolution, settlement of loan to a partner’ is done
by passing which entry ?

(ii)  Revaluation account is credited for an increase in the value of :

ffeTRad = U e § IR i ;
G)  TeeT & g0y ArEeR R H FHueH Hi-Ht ufafy witd ek e smar 9
Gi) o e 3 e H g B T TR W1 ht ST e i fora S @ 2
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20. Fill in the blanks : 1x2=2

(i)  Share of goodwill of the deceased partner is __ to his
Capital Account.

(ii)  On retirement of a partner, goodwill will be credited to the Capital
Account of .

ik T B gfd I e

—~ ]
(i) wu@m%%@aﬁr@rﬁraﬁmﬂ@@%%_‘

G) wEA RS Fihen
N

H : :
91. Write the names of the affected accounts in llowing transactions
while preparing accounting equation : v I1x4=4
(i)  Cash deposited in Bank

(i1)  Sold goods to Ashutosh foéo 4 @ g
(iii) Received Interest T2 qm

I
ST |

ii
22, Write the names of the accounting errors for the following transactions : 1x4=4

(1) Goods of ¥4,200 sold to Shalinitwas recorded in the sales book as
%2,400. o

(i) ¥5,000 spent on repairs of buildi%!g is debited to Building A/c.

LH
(11i) Kiran’s Account was short ci;edited by ¥700 while Manish’s
Account was excess credited by £700.

(iv) Rent of proprietor’s residence 6,000 was debited to Rent Account.

68/MAY/3-320-A 9 BEE [ Contd...
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Friforfiaa et o for v smifis 1 e

(i) Wﬁﬁnﬁu,gooﬁaﬁaﬁwé@ﬁmwﬁw,moﬁﬁm
™|
(i) 9o T T TG £ 5,000 T AT WG @I % A1 98§ R |

(it)  FoT 3 T 3h wn ge F = 700 3 R T, Sraifee w36 g 3 S o A
%700 3t forg o |

(iv) it & e =i frar = 6,000%@%%@%?@

23.  Give one word answer of the following questi 4=

vw iachinery. Name the

(i) Net profit of a firm befo m1ss1on is

¥22,000. If the Manag IA culate the
commission payabl ana@

(iii) Under which u@m t% %s converted into

double ent stem”and de

@as i rrent year. 25,000 is still

(i)  Carriage ¥3,000 paid on the purcha
type of expenditure.

(iv) Rent of.
to befpaid; r the last year. Calculate the
a vob in the current year.

wﬁqﬁa‘f;j:g 0 STE 579 (RST) T A TohaT T | 329

SR T AH
(i) T BH T IE A TSR ok FHIIA o PIAE 6 G T 22,000 o7 | A AR
5% FHII T STTIHRY &, T A o YA AT HHII b T HIT |
(iii) T (3FRR) TG I o Yl | Qe Sl (fEeie) ot # wiafda
obam ST @ ST AT 3T Fererieor foham ST & 2

(iv) IAAH I % fIT T 15,000 ToRTT T ST fohaT 7T | SehTaT T 25,000; st
a7 37ee fRTET Z 11,000 o7 | S99 ¥ TG FohT TE foRare i afst it
TUMT T |
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24,

' (ii)' A company issues its shares of 50 each at 60 pe

Give one word answer of the following I1x4=4

(i)  ABC Ltd. forfeited 2000 shares of aO each (which were issued
at par) held by Ramesh for non-pafinent of allotment money of
74 per share. The called-up amo on shares was ¥9. What

amount on forfeiture of Ramesh’s sﬁ@re will be debited to ‘Share
Capital Account’ ? $

are. The

excess money of €10 each is said to be. :
(iii) ~ Share application money is received by the com 0

(iv) When the company receives applications umber of shares
than offered to public for subscnptlon, e

freferrd 1 T Woe 4 S difve:
(i) qa"rvﬁ %ﬁ%@#f 109'«%

(ii)

'(iii)
(iv)



217.

28.

@)

(ii)

(i)

What is the need of admitting a new partner in the firm ? Give the
meaning of admission of a partner.

it 3 T AU AR 3 AT 31 ) T ST e € 2 SIS b e
31 ifsm |
OR / ¥4t

Give the meaning of dissolution of a partnership fi
difference between dissolution of partnership
partnership firm.

Tt i 3 e e e | et i ¥ forered
& S AT Ty |

. State the
ution of

Differentiate between ‘Private \ an »‘* blic company’ on

the basis of the following :

4 ) | J’f”“? p ? L A
Ja =
(a) Maximum numbe Y .
(b)  Number of

fraferfad & smam
(a) eI




30. (1)  Prepare a Balance Sheet of ‘Ever Green’, a Non-Government
Organisation working for the preservation of forests from the given

information as at 315t March, 2024 :

Particulars

Amount )

419

Cash in hand

1,400

[

£

Cash at Bank

21,800

Books

V57

78,000

Furniture

£L
%7

16,0

Computer

Subscriptions Outstanding for 2024
on 31.3.2024

Fixed Deposit with Bank

00,000

Subscriptions Received in Advance
31.3.2024

Rent Outstanding
Publicity Fund
Building Fund
I T % fou
TR W 31 A, 2

800

1,400
921,800
78,000
16,000
0 = x 24,000
2024 % o7 37T <iaT 31.3.2024 i 2,600
3o % gy el st £ 1,00,000
3132024 M a =T [ 3,800
e R H 4,000
o fAfer | 35,000
o At 80,000
OR / 3TaT
: ESE
B [ contd...
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& BOmba!y Sports Club, disclosed that it received ¥1,50,0!)0_ for
subscriptions during the year ended 315t March, 2024; subscriptions
outstanding 2022 —23 (of which £4,000 received in 2023 —24) is
6,000; Advance subscriptions received on 315¢ March, 2023 was
%4,500; subscriptions outstanding on 315t March, 2024 for year 2024
%55?%,300. Advance subscriptions received on 315° March, 2024 1s
Show how subscriptions will be shown in Income and Expenditure
Account for the year ending 315t March, 2024.

T T T 3 9T W e 6 % 31 W, 2024 T F
2RI £1,50,000 < F 53 W 501 2022 - 23 % o &
% 4,000 T 2023 — 24 F 9TH 5T ) % 6,000 &; 3 3 %Iy AH
< £ 4,500 =T; 31 A4, 2024 F 3% 2024 <aT % 3,800 2 |

31 W, 2024 T IH 3B =212 5,100 2 |
31 |, 2024 F TUIE B FT0t 8 3 oG Z &mém-maﬁﬁ
|
u

foamsu fo =i it o e e fifer o
a 1".; %date of .
ol (a W, A

3l. (i) Explain the calculation of
death on (a) Time basis, afad

A A T A R
(b) manaﬁéa
DR/ 31213

(ii) Explain ‘SugelProfit MetBod®of v

0)¢

1
| L]

32.

ST FTEHT :
ATeT Y STehTa T T ST e & feram T &
(iii) ST AT TRT T AT AT

S (1) When forfeited shares originally issued at premium are re-issued
(a) at premium, (b) at par, and (c¢) at discount, how will this be
recorded in the books of accounts ? 3

ST ST 3T T ST 2t qera: S o ST TR ot 3e g
(a) Sifered (M) T, (b) T T, T (c) T2 T, T TR & <l e
eI foRaT ST 2
‘ - OR/3gat

V32901 [E5E
f;s/Méy/3 320-A1 14 B8 [ Contd..




(ii)

34. (1)

\

State any three features of ‘Private Placement of Shares’.
‘I % Tt wergie’ 6t g i fasvard Farse |

From the following balances: of Jain Sons, prepare Trading and
Profit and Loss account for the year ending 315° March, 2024 and
Balance Sheet as at 315t Margh, 2024.

5

Particulars Amépnt Particulars
Capital 51,000 | Purchases Retu
Plant and Machinery 43,300 | Rent o
Sundry Debtors 19,000 | Sales \
Sundry Creditors Tra&e es
Drawings eb
Purchases %e

Bank S

Repairs Re

Stock (01.4.2023)

The closing stock waSW¥a

it |
. 1000 | F aTat 2,000
' aﬂ@ 3,800 fehtram 2,500
farferer eem 19,000 fosra 62,000
faferer Aew 203000 | TR 8,500
C IR %000 AT 0T 2,500 1
ED| 42,000 | ATET =T 4,500 ‘
CE 7,000 | < fore 11,300
T 9,000 | Torsea st 3,200
Wi (01.4.2023) 9,000
3iferm Tieh 1 qed € 12,000 9T |
OR / 379
15

68/MAY/3-320-A]



(i)  From the following ‘Receipts and Payments Account’ of A K. Literacy l
Club for the yeaf endinI; 31st Maﬁ, 9024, prepare Income and
Expenditure Account for the year ending 318t Mar.ch, 2024. 7

Receipts and Payments Account of A.K. Literacy club for
the year ending 315t March, 2024

To Interest on fixed deposits

Dr. Cr.
Amount
Receipts Am(%unt Payments ®
To Balance b/d 20,500 | By Salary 6,000
To Subscriptions 28,250 | By Fixed D 20,000
(On 1.7 .2@ 0
p.a.)
To Sales of old newspapers 1,250 | By Books 10,600
To Government Grants 15,000 urgiture 18,150
To Sales of old furniture c/d 16,400
(Book value ¥7,000) M&

Additional Informationg
T, foretet aoia @l S T B AT g “YTTY T ST
ard’ ¥ 31 A TTEEr T s TR 5

g |

s,
afsr
®
6,000
o ﬁzﬂg @ 9% M) b
QU FHTE- 36T 1,250 | q&deh 10,600
T ST 15,000 | e 18,150 .
T Tt 1 forh 5,700 | ¥ 3T &1 T 16,400
(750 e £7,000) |
T ST 9 1S 450 5
71,150 71,150 |
ST Gl
TS % 300 TS &, ook Ao =id h £ 100 212 |

-320- 16 BB [ Contd...
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35. Ashok, Bhim and Chetan were partners in a firm sharing profits in the
ratio Of 3 : 92 : 1. Their Balance Sheet as at 315t March, 2024 was as

follows : 5
Balance Sheet of Ashok, Bhim and Chetan as at < 315t March, 2024
Amount
1 t
Liabilities mont Assets ®
m 1'1“
Creditors 1,00, 000' Land 1,00,000
Bills Payable 40 oq(u Building 1,00,000
General Reserve 60,0(]9} Plant ,00,000
Capitals : | Stock o 80,000
Ashok  2,00,000 | Debto \ 60,000
Bhim  1,00,000 Ba& 10,000
Chetan 50,000 | 3,50,000 B2
5,50,0 5,50,000 |

Ashok, Bhim and Chet to e future profits

equally, w.e.f. 15 April, 2

(a) Goodwill of the
(b) Land be val 60 0
(¢)  Creditors

be written 0

aﬁwﬁwﬁaﬁmsﬂ:l%

epremated by 6%.
a1med and hence

cap1ta1 Accounts after

ferartor freforaa o -
3 2wy fearfa feremor

¥ S wF

O s
TR 1,00,000 | ¥ 1,00,000
& faet 40,000, ¥a 1,00,000
T H=E 60, 000 | et 2,00,000
gt - ;.; Bich 80,000
as®  2,00,000 | e 60,000
dfim  1,00,000 | & 10,000

da9 50,000 | 3,50,000
: 5,50,000 5,50,000
a7

68/MAY/3-320-A]
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36.

@)

ST, Wi i ¥ vy i e ) SRR e o ot e, i

1N§H££24%ams‘lmmgwﬁnﬂaﬁ%

(a) “ﬁ@'lﬁaﬁfq@'tﬁmf3 00,000.

(b) wﬁwmneoocosﬁrwma%ﬁaﬁﬁ@mmm

(©) 212,000 % SHawt ¥ dar g imy Y IR AT off, FHCTC
Jraferiae famm mar |

Wﬁ%wm%mmmmﬁﬂﬁzﬁ%ﬁ@ﬁ

Airdrop Ltd. issued 1,00,000 Equity shares o ach. The
amount was payable as follows

On application

On allotment and

On first and final call Balance
Applications were received for ol 4wquity shares. Allotment
was made as under :
80,000 applications were giffen 80,008 shares, 50,000
apphcatlons were given 20 Mduity Shaves, 10 applications
were not allotted any shdes Birs final'ca et made.
Pass necessary Jo sactlons 5

g fafies 3

Vot fe, T <8



87. Which of the follo is not an 1
(A) Interest @
B) oV
(€) i
—
<
™
M
& Wy
(D) = T A S
38. From the following transactions identify which one is the Tnvesting
Activity’ : | ; 1
(A)  Sale of machines by a dealer of machines
(B)' Issue of share capital
(C)  Purchase of machines
- (D) Short term deposits in banks
68/MAY/3-320-A) ‘_ =5 '. g%% [ Contd..

Tt fifive X 10 y@F % 20,000 ¥ T2 A 3 & HitRH T

i b | TR 38 s 31 &) e
A& | < 4 9 I

A T Nf:asrf'?rm(mﬁmq&nﬁm%)
T ITEHT I mfmd%ram

EILERIECIRT f\:ﬁq
“‘ﬁwaﬁﬂéawmwgaﬁmm 757} O ST AT 6 RIS
TR T, S o a1 9 aiferer o 36 A S |
SR AT BT T S 3 A ST ST

SECTION B ‘\

wiE B




39.

40.

e e & e e e e T 8
(A) T 3 e gro wRfieT H fos

(B)  oiwr st &1 Ffe

(C)  wefist 1 %

D) é’ﬁﬁmﬁﬁam
. t before
Which of the followmg is not deducted from operatlﬁons?

working capital changes, to calculate cash generated
ventory

(A) Increase in debtors (B) In

(C) Increase in bills payable spepra(D) in prepaid expenses
sy & T e 61 O Y e e tff%h‘sﬁnﬁﬁmﬁﬁ
e 3 & 7 7 S ST ? Q k

(A) SRRHIE iy

€ WREagg

40,000 and other

S
u i9.
7:5

3 AT e 7 2,00,000 &,

Working capital is rade
Current liabilities are@
(A)
(@5 Q
EINIC] 1 20,000; b
6 B) 4:1
9 6 (D)EsTe: ]

alculate ‘Inventory Qver Ratio’ from the following information :
pening Inventory ¥50,000; Closing Inventory 40, 000 and Cost of

Revenue from Operat:lons %17,20,000.

(A) 18 times (B) 16 times
(C) 144 times (D) 8 times
Frferfard Tt & i ATed AT Sl O Hifere :

arrrﬁﬁmﬁoooo aqﬁwmuooooaﬁwﬁam:rﬁwaﬁamﬂ
%7,20,000.

(A) 18dR (B) 1691

C) 144K Bl )R T,

68/MAY/3-320-A] 20 ' EEE
: um%g [ Contd...




42.

43.

Which of the following is an example of adjustment for Non-operating
items ? v
(A)  Purchase of investments
(B)  Sale of fixed assets

(C)  Interest paid on term deposlfr;ls by a bank

(D) Issue of equity share capitap

Tt & - e s ot 3 Gt o SR 2
A) o i whig

(B)  wit qitemaferit st forsr

(C) oI g TTafRrer sy ¢ foy v st
(D) §et fr ft =t Fefe

419

Complete the following sentences : Lo
(i)  Low Trade Receivables ‘
) Only o e4nd present
Cash Flow State |
T TET T TETH

afifig a ‘Cash Flow Statement’ 2
' S|
- 2
nt Liabilities
d’ while
3

LY



417.

\

G
Flow statement from the Balance Sheet of JTVA Ltd. as a

5

Balance Sheet of JIVA Ltd. as at 31% March, 2024
Piars Note | 31.3.2024 | 31.3.2023
e No. ® ®
—\“
I-Equity and Liabilities :
1. Shareholder’s Funds : %
(a) Share Capital 1,80,000
(b) Reserve and Surplus ‘ 000| 24,000
2. Non-Current Liabilities : &
Long-term Borrowings 1,50,000 | 1,50,000
3. Current Liabilities - O
Trade Payables 0 27,000
: ; 3,81,000
IT - Assets :
13 Non-Curre&s .
s o 2,94,000 | 2,52,000
48,000 18,000
54,000 60,000
(b) Inve?s 1,07,000 | 24,000
(¢) Trade ceivables 40,000 17,500
(d) Cash & Cash Equivalents 24,000 9,500
Total 5,67,000 | 3,81,000
Notes to Accounts :
31.3.202 3.
Particulars 3(:) sl 3(:)023
1. | Reserve and Surplus |
Surplus i.e., Balance in
Statement of Profit and Loss P 2ol

68/MAY/3-320-A]
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St forfiee % Rufy Rrewor @ 81 1, 2024 i Aehe TaTE foaRUT GaR HISTT

31 W, 2024 Y Sfrar frfree w1 fufa faswo
= | 31.3.2024 | 31.3.2023
Ea 2 e @ | ®
I — |t 3R a'ﬂ'rlTQ' : Rl
1. SAITETE IV ; L{\Q
Cm s 9,10 180,000
() = S e 1 924,000
2. e e \
el 50,000 [ 1,50,000
3. e QT
5 27,000

11 — O -

2,52,000

48,000 18,000

54,000 60,000
1,07,000 24,000

ok 40,000 | 17,500
(d) THFSTEUIHRSTH T

Al 24,000 9,500
& 5,67,000 | 3,81,000
31.3.2024 | 31.3.2023
foaon
® ®
1. | g TS S
g;ﬁ:atham-‘s'rﬁﬁwﬁ 132,000 24,000

68/MAY/3-320-A] 23 g%‘g [ Contd...
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OPTIONAL MODULE - II
ehfeuss Aigde - 11

(Application of Computers in Financial Accounting)

(Forefrar Srriere & amvwget 1 9@)

317.

(A)  Requirement Analysis
(B)  Logical Design

(C)  Conceptual Design
(D)  All of the above

mwmmﬁﬁmﬁqﬁqﬁa

(A) o
(B)

(C) %
(D)
é upees

E-mail addre

Number

Wh11e c
objec

The process of structuring a database comprises of :

;~

as

&

object linking and embedding

mmﬁmmmmmwm@%m
(SNUA 3. 3HTootae) T SATeoide T qTed @ -

(A) BIRETE

(B) ¥T
(C) ZuHATgH

(D) gEr

68/MAY/3-320-A]
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39.

Create :

(A)

(B) data tables
(C)

(D)

(&) o T w5 Ry
(B)  <erwmuh

(C) m?ﬁzﬁﬂsatﬁ;q
(D) ﬂ%ﬁ‘o’cﬂﬁTmﬁﬁ

40. The allowance «
accommodat se/
g Fu

ouse Rent All

Transport Allowance

the SQL compatible query statement

an appropriate user interface

various reports as per the reqﬂ.],rement of end user

ARG R 3 U T o st mwﬁmﬂﬁ

I"‘-n

&

SRHITY o ST faTrer shi st 21 fohTTe T ST e o fomm T sy 2

(A)  wfosr fafer (o= %e)

®) TS M
(C) WM e s

(D)  IAEAT AT

- 68/MAY/3-320-A]

h
i
~
™
™
L%

I

3t

25

One of the main components of Microsoft Access ‘queries’ are meant to

e in acquiring residential

[ Contd...



41. MS Excel automatically re-draws the chart : :

(A)  Ifany change is made in data
(B)  Ifany change is made in the range data
(C)  (A) and (B) both
(D)  None of the above
UH.UH. TS W&d: & 91 hl S a1 2T &
(A)  3fE ST A *iE ufads frar Al
(B) uﬁﬁw%aﬁahéw&aﬁqﬁma‘r
© @) aﬂr (B) &t
D)

- 42, !

(A) stores dates
(B) stores time
(©)

‘‘‘‘‘‘‘



B e e
\
\

45. Give the meaning of graphs and charts used in MS Excel. State any two
advantages of using charts. 2
UH.TH. TS & S3h 76 7 A1 1 37 e | ATE T ST HFH o IS & A
ELIE

h |

46. What is ‘Payroll’ ? Write any four ;rearning items used as payroll Jl

|

components. ™~ 3 |
Yo T R ? Y-Ued FI2eh oh & 3 S i3 g 3Tt A

M ‘
#: \ |
47.  Give the meaning of ‘Electronic Spreadsheet&a ny four features of a |

spreadsheet. 5
‘TR Tiesfe’ T 37 Jaisy | N T eI T | ;
O AP T

o
P"’
<
™
P~
LN
=
H:

-320-A 27 = El
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